dO-TId
d - b/Rad
mfb_{t} [pb/Rad]

Ratio to ATLAS

=
(@)

[EEY

0.5

13000 GeV pp tt
|| T T T T T T | T T 1T T 1T T 1T 7 | I I | 1]
B AQ (ttbar) (ATLAS ttbar) i
— m ATLAS =

—A— Pythia 6.428 370
— ---0-- Pythia 6.428 atlas-csc =
— --+-- Pythia 6.428 d6t —
B Pythia 6.428 default 7
. ---v-- Pythia 6.428 dw m ¥
. —e— Pythia 6.428 p0 - —
_| | | | | | | | | | | | [ | |_
:l T T T T | T T T T | T T | I:
| " 1 1 " 1 1
0

Ag” ™) [Rad]

Rivet 3.1.10, = 3.5M events

mcplots.cern.ch [arXiv:1306.3436]

N




	Contents
	Page 1


